Give: E, Power (required), Length,
Radius, Dx, Dr, Dt, Ty, 1,
time=0, L=0
Top(X,r,t) = 25°C (for all x,r),
T(x,r,t) = 25°C (for all x,r)

Calculate q
Calculate Power (actual)

Is UPower (act.) - Power (reg.)¢ £ 0.05?

| |
Y

I

E\=|I/E E-E / Power (act.)

Power (reg.)

At every x and r find: €'(T), q(T), Ci(T),
K(T), h(T), h(T), emiss(T), and B.C.'s

Y

At every x and r, calculate Tyew(X,r,t)
using the line-by-line method

N

N

L=L+1
IsL 3 1000? Av]
|Therma| Runaway |
I

ISéI'NEW - TOLDé£ 0.001?

time=time+ Dt
L=0
Tss = Tnew
T= TNEW
time=time+ Dt
WRITE Tyew every WRITE Tnew

5 seconds

Figure 1.7 Flow Chart
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